QUiZ 8 OCTOBER 31, 2019
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1. (6pts) Let A be the following matrix:

0 1 1 1
13 2 4.
1 -1 -2 0O

a) Find a basis of ColA. (Fact: The pivot columns form a basis of ColA.)
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b) Using Gram-Schmidt process, find an orthogonal basis of ColA and find projc,, 4 ¥ (the orthogonal projection
of y onto ColA) where y = { ]
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2. (4pts) Find the norma‘? equatmn‘?or Bx = band find the least- squares solution of the equatlon where o :w.? w_c,—t:or.j

sk pe_ in the

. lio 1 } ‘l} Sgan af e M
Norma\ Equatien B=|1 and b = |2 cekumin 5ga (R IS
(T8)% = BT 1 -1 2
F3 20} =074 43
%= (8T8 BTV

< (oL, °‘]\ va—}[} v }
LHD Eal —1, ?—]P] \%E é‘ﬂ [\f‘ﬂ




e L 2 fi) H H




